
UNLESS SPECIFIED

M8
M10
M12
M16
M20 200 Nm

160 Nm
80 Nm
45 Nm
24 Nm
10 NmM6
TORQUEFASTENER

 1
14

.5
 

 5
1.

0 

 390.0 

 30 TYP 
 36.0 

8 x M12

 296 

 249 

 2
05

.0
0 

MOUNTING
INTERFACE
PAD FOR FRONT
MOUNTING OPTIONS

 1
42

 

 114.5  65.25 

 266 

 2
54

 

 27 

 390 

 30 TYP 

8 x  10.20  23.00
M12 - 6H  20.00

 26.5 

 453 

APPROX MASS: 45 Kg

ENSURE ALL FASTENERS
ARE TORQUED TO THE CORRECT
VALUES

LOCTITE 234 (THREADLOCKER)
TO BE APPLIED ON ALL FASTENERS

REV. DATE DESCRIPTION CHANGED BY
A 04/12/2015 FIRST ISSUE NJ

Drawing not to be reproduced or distributed in any form without specific permission from Redstart//Design.

1:5HORNET2-MA-01 OF 6

A3

REVISION

FORMAT

SCALE

CHECKED

DRAWN DATE

1SHT

04/12/2015N. JONES

04/12/2015

A

DRAWING DESCRIPTION:

MATERIAL:

DRAWING NUMBER:

DATE

HORNET-2 TWIN MOTOR WINCH
12V / 24V - 4000 Kg

SEE DETAIL DRAWINGS

www.redstart-design.com

Professional Engineering Resource

Redstart//Design Ltd

Tel: +44 (0)1460 67744
Fax: +44 (0)1823 261070 

USED IN ASSY / FAB

VARIOUS

QTY REQ

N/A N. JONES

FINISH

UNLESS SPECIFIED IN CONTRACT ALL WELDS MUST BE PRODUCED BY 
QUALIFIED WELDERS TO BS EN287-1: 2004 - WELDING SYMBOLS TO BS499-2: 1980

FABRICATION: +/-1M/C +/-0.2FLATNESS & SQUARE
TOLERANCES:

GENERAL TOLERANCES UNLESS SPECIFIED

X +/-0.50 X.X +/-0.25 X.XX +/-0.1 X.X +/-0.5X +/-1

PROJECT REF: PROJECT DESCRIPTION:



UNLESS SPECIFIED

M8
M10
M12
M16
M20 200 Nm

160 Nm
80 Nm
45 Nm
24 Nm
10 NmM6
TORQUEFASTENER

TOP VIEW

ITEMS REMOVED TO SHOW BUS BAR ARRANGEMENT

FRONT

LEFT SIDE

EARTH CONNECTION
FOR MOTORS - M8 THREAD
EARTH CONNECTION FROM 
AIR SOLENOIDS ALSO 
CONENCTS HERE

REAR VIEW

Drawing not to be reproduced or distributed in any form without specific permission from Redstart//Design.

1:3HORNET2-MA-01 OF 6

A3

REVISION

FORMAT

SCALE

CHECKED

DRAWN DATE

2SHT

04/12/2015N. JONES

04/12/2015

A

DRAWING DESCRIPTION:

MATERIAL:

DRAWING NUMBER:

DATE

HORNET-2 TWIN MOTOR WINCH
12V / 24V - 4000 Kg

SEE DETAIL DRAWINGS

www.redstart-design.com

Professional Engineering Resource

Redstart//Design Ltd

Tel: +44 (0)1460 67744
Fax: +44 (0)1823 261070 

USED IN ASSY / FAB

VARIOUS

QTY REQ

1 N. JONES

FINISH

UNLESS SPECIFIED IN CONTRACT ALL WELDS MUST BE PRODUCED BY 
QUALIFIED WELDERS TO BS EN287-1: 2004 - WELDING SYMBOLS TO BS499-2: 1980

FABRICATION: +/-1M/C +/-0.2FLATNESS & SQUARE
TOLERANCES:

GENERAL TOLERANCES UNLESS SPECIFIED

X +/-0.50 X.X +/-0.25 X.XX +/-0.1 X.X +/-0.5X +/-1

PROJECT REF: PROJECT DESCRIPTION:



4

?

1

6

1
12

 154.00 

A

A

5

7

13 11

9

3

SECTION A-A

SPEED:              35m/MIN
PULL:                 3500KG
POWER:            12 or 24vDC
BRAKE:              AIR
FREE-SPOOL:    AIR

ITEM NO. PART / DRG NUMBER DESCRIPTION Default/Q
TY.

1 HORNET2-MA-02 HORNET-2 WINCH BODY ASSEMBLY 1
2 HORNET2-MA-03 WINCH DRUM ASSEMBLY 1
3 HORNET2-MA-04 DRIVE SHAFT & FREESPOOL ASSEMBLY 1
4 HORNET2-MA-06 TWIN MOTOR ASSEMBLY 1
5 HORNET2-MA-07 GEARS 2 & 3 ASSEMBLY 1
6 HORNET2-MD-18 HAWSE FAIRLEAD 1
7 HORNET2-MD-20 GEAR 6 - 15 TOOTH / MOD 2 2
8 HORNET2-MD-21 TOP MIDDLE GEAR 1
9 HORNET2-MD-24 GEAR 1 - 75 TOOTH / MOD 2 1

10 M10 x 70 M12 x 30 SKT CAP HEAD 1
11 M10 FORM C ST/STEEL WASHER M10 - FORM C 8
12 M12 x 50 M12 x 50 8
13 M12 x 30 M12 x 30 CAP HD SCREW 8
14 ABU-MA-01 SINGLE MOTOR BRAKE ASSEMBLY 2

Drawing not to be reproduced or distributed in any form without specific permission from Redstart//Design.

1:3HORNET2-MA-01 OF 6

A3

REVISION

FORMAT

SCALE

CHECKED

DRAWN DATE

3SHT

04/12/2015N.JONES

04/12/2015

A

DRAWING DESCRIPTION:

MATERIAL:

DRAWING NUMBER:

DATE

HORNET-2 TWIN MOTOR WINCH
12V / 24V - 4000 Kg

SEE DETAIL DRAWINGS

www.redstart-design.com

Professional Engineering Resource

Redstart//Design Ltd

Tel: +44 (0)1460 67744
Fax: +44 (0)1823 261070 

USED IN ASSY / FAB

VARIOUS

QTY REQ

1 N. JONES

FINISH

UNLESS SPECIFIED IN CONTRACT ALL WELDS MUST BE PRODUCED BY 
QUALIFIED WELDERS TO BS EN287-1: 2004 - WELDING SYMBOLS TO BS499-2: 1980

FABRICATION: +/-1M/C +/-0.2FLATNESS & SQUARE
TOLERANCES:

GENERAL TOLERANCES UNLESS SPECIFIED

X +/-0.50 X.X +/-0.25 X.XX +/-0.1 X.X +/-0.5X +/-1

PROJECT REF: PROJECT DESCRIPTION:



 34.00 

 154.00 

 104.00 
2

2

1

4

1

4

HORNET STANDARD GEARSET

ITEM NO. PART / DRG NUMBER DESCRIPTION Only Gears/QTY.

1 HORNET2-MA-07 GEARS 2 & 3 ASSEMBLY 1
2 HORNET2-MD-20 GEAR 6 - 15 TOOTH / MOD 2 2
3 HORNET2-MD-21 TOP MIDDLE GEAR 1
4 HORNET2-MD-24 GEAR 1 - 75 TOOTH / MOD 2 1

Drawing not to be reproduced or distributed in any form without specific permission from Redstart//Design.

1:2HORNET2-MA-01 OF 6

A3

REVISION

FORMAT

SCALE

CHECKED

DRAWN DATE

4SHT

04/12/2015N. JONES

04/12/2015

A

DRAWING DESCRIPTION:

MATERIAL:

DRAWING NUMBER:

DATE

HORNET WINCH - TWIN MOTOR
12V / 24V - 4000 Kg

ANODISE: RED / BLACK

www.redstart-design.com

Professional Engineering Resource

Redstart//Design Ltd

Tel: +44 (0)1460 67744
Fax: +44 (0)1823 261070 

USED IN ASSY / FAB

VARIOUS

QTY REQ

1 N. JONES

FINISH

UNLESS SPECIFIED IN CONTRACT ALL WELDS MUST BE PRODUCED BY 
QUALIFIED WELDERS TO BS EN287-1: 2004 - WELDING SYMBOLS TO BS499-2: 1980

FABRICATION: +/-1M/C +/-0.2FLATNESS & SQUARE
TOLERANCES:

GENERAL TOLERANCES UNLESS SPECIFIED

X +/-0.50 X.X +/-0.25 X.XX +/-0.1 X.X +/-0.5X +/-1

PROJECT REF: PROJECT DESCRIPTION:



HORNET2-MD-02 1x

HORNET2-MD-22 1x

HORNET2-MD-23 1x

HORNET2-MD-20 2x

HORNET2-MD-21 1x

HORNET2-MD-20 2x

M5 x 16 1x

4202-ATN91x

4202-ATN91x

61902 1x

619021x

619021x

HORNET2-MD-24 1x

16006 1x

HORNET2-MD-011x

61805 2x

M5 x 16 2x

ABU-MD-08 2x

ABU-MD-07 2x

ABU-MD-06 2x

ABU-MD-07 2x
ABU-MD-05 2x

ABU-MD-04 2x

ENTEX-91 2x

C1300-070 2x

ABU-MD-03 2x

ABU-MD-02 2x

N230 2x

N228 2x

MN036X2.52x

HORNET2-MD-17 1x

HORNET2-MD-181x

M12 x 508x

HORNET2-MD-161x

M12 x 508x

HORNET2-MD-081x

HORNET2-MD-071x

HORNET2-MD-051x

VL170 SEAL1x
61822-2RS1x

HORNET2-MD-031x

M12 x 308x
M10 FORM C8x

HORNET2-MD-141x

HORNET2-MD-091x

HORNET2-MD-41 1x

HORNET2-MD-331x
HORNET2-MD-321x

HORNET2-MD-36 1x
HORNET2-MD-30 1x

HORNET2-MD-31 1x

DC88-394PL-12V1x

HORNET2-MD-351x

HORNET2-MD-341x

HORNET2-MD-40 1x

A331-1C2_CAMOZZI 1x
QSL-1_8-61x

L06-01 1x

HORNET2-MD-04 1x

SC30X40X4 1x
16006 1x
HORNET2-MD-12 1x
HORNET2-MD-11 1x

HORNET2-MD-101x
HORNET2-MD-131x

N1091x
N8091x

BOW_Motor_2 1x

165007 UC-QS-6H 2x

153335 QSML-M5-6 2x

153046 QSL-1_8-6 2x

ABU-MD-01 2x

6005 1x
4202-ATN9 1x
M5 x 10 1x

4202-ATN91x

HORNET2-MD-06 1x

HORNET2-MD-391x

HORNET2-MD-15 1xMB4020DU 1x

Drawing not to be reproduced or distributed in any form without specific permission from Redstart//Design.

1:7HORNET2-MA-01 OF 6

A3

REVISIONSCALE

CHECKEDDRAWN

6SHT

N. JONES 04/12/2015

A

DRAWING DESCRIPTION:

MATERIAL:

DRAWING NUMBER:

DATE

HORNET-2 TWIN MOTOR WINCH
12V / 24V - 4000 Kg

SEE DETAIL DRAWINGS

www.redstart-design.com

Redstart//Design Ltd
+44 (0)1460 67744

N. JONES

FINISH

UNLESS SPECIFIED IN CONTRACT ALL WELDS MUST BE PRODUCED BY 
QUALIFIED WELDERS TO BS EN287-1: 2004 - WELDING SYMBOLS TO BS499-2: 1980

FABRICATION: +/-1M/C +/-0.2FLATNESS & SQUARE
TOLERANCES:

GENERAL TOLERANCES UNLESS SPECIFIED

X +/-0.50 X.X +/-0.25 X.XX +/-0.1 X.X +/-0.5X +/-1


	SHEET 1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6

	SHEET 2
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View11

	SHEET 3
	Drawing View16
	Drawing View17
	Section View A-A

	SHEET 4
	Drawing View21
	Drawing View23
	Drawing View24
	Drawing View25

	SHEET 5
	Drawing View18

	SHEET 6
	Drawing View26




